AE/AF R 5IiREH
AE/AF SERIES GEAR BOX

M Z)#RE Sectional Drawing

2 M dv/av

@ % Output shaft

@ ®iiE= Front cover

® ;HES Ol seal

@ B HHIHATEHA Output shaft front bearing
® 1724 Planetary gear

® WS 4H7% Output shaft rear bearing
@ WIE5ES Front cover

J&2= Rear cover

® APFE%E Solar wheel P03
@© BXifES4h7 Coupling

@ BX4hES Coupling

© IEFERFEHEZ Rear cover

S3I¥3S 4v/3v

B E5S. PEHRRBEE Type And Model Number

AE/FIRZEH] AE/F Reducers \ {EIBREEATL Servo Motor

60 AE/F 10 () (S) - 400 T
©» @ ©® @ & 6 O

RERAALEES:: 060 Gear head frame size: 060
HENESS: Gear head series code:
@ AE: B REE=ZRS AE: Round mounting flange series
AF: FREEEZR AF: Square mounting flange series
THIELL: 10 Gear ratio: Single stage 10
HLEEE Cabin seat IREY Stage FROEES (218 ) Standard (omitted)
1 5
60AE/F
2 7
#5E Accuracy 90AEFF 1 5
@  HEREEABTITE LB« 3%8THIE 2 7
Output shaft load value at +3% of allowable output torque 1 5
120AE/F
2 7
1 5
160AE/F
2 7
EYNEHEL, Input shaft type
S: BABE (BIR) ( LiCDARABEEEa(EA ) S: Overall locking (Omitted) (Can be used regardless of whether the motor has a keyway)
® S1: HHENSE ( T DAERDEREERaEA ) S1: Locking with locking ring (Can be used regardless of whether the motor has a keyway)
S2: HEEHIEA (AR ) $2: Lock with keyway (Input shaft with key)
K: TiEE K: With keyway
A: EthiEfcEs (B TALEEKR ) A: Other adapters (Please contact us)
©® EFRFERDIATIE (W) Applicable servo motor power (W)
@ WNE=SERBIXBRTE () Corresponding dimension table of input flange and servo motor ( )




AE/AF 255217 2 miE
AE/AF PLANETARY GEAR BOX

I 7= S & Product Diagram

>
T :
>
M
wn
m
A
m
2 M #35 AR =% Technical Information
FeERELS Product type 60 90 120 160 LY Reduction ratio RE] Series
34 85 144 342 3
P04 33 95 200 542 4
38 105 220 650 5
36 93 200 550 7 !
30 83 180 500 8
26 70 155 450 10
48 115 209 342 12
48 115 209 342 15
N 47 130 275 500 16
FnEGHHIA%E Rated output torque N.M " 20 o 2 »
50 135 280 650 25
45 120 260 600 32
45 125 265 550 35 2
43 115 245 500 40
50 135 280 650 50
37 83 180 600 64
32 83 180 500 80
29 73 165 450 100
F5ap Life /)NBS Hour 20000
B%E2=H4E Instant emergency stop torque N.M 2EARELIHIHE 2 times rated output torque
FERBLS Product type 60 90 120 160 E4( Company R Series
EAFZE[A] Radial force 750 2100 2520 7000 N -
B ALHES Axial force 375 1050 1260 5000 N B
IR Full load efficiency =97 % !
>94 2
o 09 25 65 18 1
T8 Weigh 12 30 72 20 kg 2
T {FRFE Operating temperature -10~+90 °C B
{F4PEE4 Protection level P65
JEE75 R, Lubrication method R B8 Lifetime lubrication
LR Installation method {EE Any

BARRDSHRAMES , HH100RPMAET , {EFF Rt OIE (L/2)4k,

Maximum radial force and maximum axial force, when the output is 100RPM, it acts on the center position (L/2) of the output shaft.



AE/AF 255217 EmiEN
AE/AF PLANETARY GEAR BOX

M 5 A &¥$ Technical Information

4v/3av

N

2

i

S3I¥3S 4v/3v

P05

FEERELS Product type 60 90 120 160 LY Reduction ratio ¥4 Series
0.15 0.69 2.94 9.21 3
0.12 0.50 2.27 7.54 4
0.10 0.46 2.10 7.42 5 1
0.10 0.42 2.00 7.14 7
0.10 0.42 2.00 7.07 8
0.09 0.39 1.90 7.03 10
0.06 0.32 1.50 2.1 12
0.05 0.29 1.13 2.1 15
e o , 0.06 0.32 1.1 2.71 16
#EIRE Moment of nertia Kgom 0.05 0.29 0.99 2.1 20
0.05 0.29 0.98 2.1 25
0.05 0.26 0.89 2.1 32
0.05 0.26 0.89 2.1 85 2
0.05 0.26 0.89 2.1 40
0.05 0.26 0.89 2.57 50
0.05 0.26 0.89 2.57 64
0.05 0.26 0.89 2.57 80
0.05 0.26 0.89 2.57 100
= EREYS Product type 60 90 120 160 ¥ Series
s arcmin <5 <5 <5 <5 14% One series
IR Backiash Mo <8 <8 <8 <7 24% Two series
$UHSNME Torsion resistance N.M/arcmin 1.8 45 12 38 -
%7 Noise dB(A)
ERaiHHEEER Output speed min’ 4500 4500 4500 4500 -
HEFZEINEEIE Recommended input speed min’ 3000 3000 3000 3000

1. EEINBESHNIMBE X, Moment of inertia is related to input shaft.
2. IREEAE | BB Im , TEMINEEIE30004E /95 & ATN1E, Noise detection standard, distance 1m, measured at input speed of 3000 rpm with no load.



EfTEREN S
AE PLANETARY GEAR BOX-MECHANICAL PARAMETER

Il R <FE& Dimensional Drawing

8 NInput
L1
e L2 L3 L4 ®
L8 D1 )

>

L

> L6 L7

ﬂ .

o a8 5 8t 8

G 1]

w

L9
4-G1
P06
Il R~J 3 Dimensional Table [E£7Unit: mm]

FEERELS Product type 60AE 90AE 120AE 160AE
2% Number of stage 1 2 1 2 1 2 1 2
L&A L1 overall length 116 126 151 165.5 196 207 284.5 323
L3FE{RIEE L3 body length 57 67 71.3 91.8 93 104 1315 170
HitHis Output
L4H4H<E L4 output shaft length 35 40 55 87
L5-HAHHZ4M/E L5 output length to the shaft shoulder 305 36 50 80
L6$E4<RE L6 key length 25 28 40 70
L7$EZ4ARIH1S LT key length to shaft end 2.5 4 5 5
L8 & E42 L8 spigot length 3 3 4 5
D4HAMER D4 output shaft diameter ®14h7 ®20h7 ®25h7 D40H7
D54fSEI2 D5 shaft shoulder diameter ®20 ®30 ®40 ®45
DEERIIMEER D6 spigot length ®40h7 ®60h7 ®80h7 ®130H7
D7#E{KE42 D7 body diameter ol ®90 ®115 ®160
D8Z224E7,45#R1E D8 hole circle ®52 »70 ®100 ®145
B14EE B1 key width 5 6 8 12
H14E5 H1 key height 16 225 28 43
G2Z22EM247F|, G2 mounting screw hole M5X10 M6X12 M10X16 M12X20
G3h MELSFL, G3 center screw hole M5X15 M6X18 M10X22 M12X25
85 N Input
L2 N £ == 1< BE L2 input flange length 24 33.7 48 66
LOEBHFHHE L9 motor shaft length 30 40 58 79
L10ERIMESR L10 spigot depth 10 10 10 10
D1%%£F,53 %68 D1 mounting hole distribution circle ®70 ®90 ®145 200
D2ENIYEETR D2 spigot diameter ®50G7 ®70G7 ®110G7 ®114.3G7
D34 N4HHAZ D3 input shaft diameter <14G7 <19G7 <24G7 <35G7
G1Z2EMB4FLXGHRE G1 mounting threads X depth M4X10 M5X12 M8X21 M12X25
Q3HINJEZ 03 input flange 160 180 1130 0175




AF{TEREN - S
AF PLANETARY GEAR BOX-MECHANICAL PARAMETER

I R <FE& Dimensional Drawing

85 Output 8 NInput
L1
D10 03
12 13 L4
1 /m L11] 18
P - Ny ]
o 9o
i - L
{o)—{ =\ ~4--(O)- 8 8 5 B' %8
G3 N
) &7 M -
o e ¢ |
4-D9iEFL L9
Il R~F3& Dimensional Table [ fZUnit: mm]
FEERELE Product type 60AF 90AF 120AF 160AF
% E7 Number of stage 1 2 1 2 1 2 1 2
L1F5{AA< L1 overall length 116 126 151 165.5 196 207 284.5 323
L3FEMEE L3 body length 57 67 713 91.8 93 104 131.5 170
it Output
L4 L4 output shaft length 35 40 55 87
L5HHFHHS ZE4//E L5 output length to the shaft shoulder 305 36 50 80
L6521 L6 key length 25 28 40 70
L75EZ=HZRIRE L7 key length to shaft end 2.5 4 5 5
L8[ E42 L8 spigot length 3 3 4 5
L1143 %=/=Z L11 output flange thickness 8 10 16 15
DAHH4HEL/R D4 output shaft diameter ®14h7 ®20h7 ®25h7 ®40HT
D54/E B4R D5 shaft shoulder diameter P20 D30 ®40 ®45
DEEAIMEER D6 spigot length ®50h7 ®80h7 ®110h7 ®130H7
D7#E{AE1R D7 body diameter ®61 ®90 ®115 ®160
D8ZZEF9>7RIE D8 hole circle ®70 ®100 130 ®185/d200
D9;E=%%57, D9 mounting hole ®5.5 6.5 ®8.5 ®11/013.5
D10Z2%EF,557R[E D10 hole circle 162 190 115 [1160/(1175
B142%% B1 key width 5 6 8 12
H14E5 H1 key height 16 225 28 43
G35 /MEEFL, G3 center screw hole MB5X15 M6X18 M10X22 M12X25
NI Input
L2E NI A =1<E L2 input flange length 24 33.7 48 66
LOEEHN4HHEE L9 motor shaft length 30 40 58 79
L10FERZIM AR L10 spigot depth 10 10 10 10
D1Z2E7,%570[&E D1 mounting hole distribution circle D70 D90 D145 200
D2TENIMEE1R D2 spigot diameter ®50G7 ®706G7 ®110G7 ®114.3G7
D34 N\4M4H7R D3 input shaft diameter <14G7 <19G7 <24G7 <35G7
G1ZZEBFLXGRE G1 mounting threads X depth M4X10 M5X12 M8X21 M12X25
Q3EINE= Q3 input flange 160 180 130 0175

4v/3av

™

2

i

S3I¥3S 4v/3v

P07



	页 3
	页 4
	页 5
	页 6
	页 7

